EARAROBREBRT —5 XN—ZXBISH—F

20224F9H7H (K) 10@XFH3H

SR EES

C2F5N

\(9&1@1 = ‘[%EH%F&] ~ | & 10000 =

[AE%] 1 7% :1,000,000 § ~ 237 :400,000 @  37&:250,000 3  43&:150,000 @ . 5 3&:100,000 M

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
NG s, = 1|38 142, -1-1- . - SR (KH)
1 29//91Dy74 * 4 56.0 1&; 393 ! g 7%9%”1
RiFVITHXNXN B:RATv R e
=~ Y 4 | BEX 1:42.4 3-3-2-2 [39.4| -— 7 494 | RHTESE (IE)
20711 73>~7=b 56.0 (72 (+10) | AU
RiFRF B:RU—LV3T HRaHt /—ZeR
\ o4 | THF 1:42.5 7-7-6-6 | 38.9| — 12 | 513 |WLEEE (KH)
3lgl14| ¥ILIVDY 56.0 (3/4) gy | BRBT
R:O—IRAUXA B:OYRDvaY RILYFHIS
» . BESXH : -9-3- - EEBRIR (KH)
45|77 | 7EUFPZL—1 L e 1.{122).9 10-9-3-3 | 39.8 10 (4_325) ot
R:hSVEVR B:voO7 HEAZAFw b
WV R B 143, -14-13- . - mAtE (KH)
5 6| TyY Ny R 4 4 B 1(34/34)1 13-14-13-12| 38.5 13 (4343) e, L
RiFUEYR BINFAREYTS MEZI Y R
» vy 4 | TEEH 1:43.2 2-2-5-5 | 39.7| — 4 493 | EHPIEEA (ViA)
6|58 | FLILE %55.0 a7 s | P
RiFA IR v— B:AVTa—Y /=Y Tr—I
a3 44 | HWHES 1:43.3 12-10-4-4 | 40.0 | — 6 536 | REZEM (k)
7111 | 9TA TPy 56.0 (/2) 1) |HEtEE
R:FAIXIp— B:IIAIRIUR #HBT7—L
- o5 | HEER 1:43.4 11-12-11-11] 39.1 | — 11 | 436 |FEEME (KH)
8 9| =/XI #¢55.0 1/2) @3) |TBEE
R:T—=ILRI—-R B:HI5T—H BREHIS
b= A vy 7 | HIEYE 1:43.5 8-8-10-9 |39.5| — 2 434 | EBBRIR (KH)
910 BLOTSH— 77 %0 (1/2) 45 | #R NyE=2%AIL
RiTUF—Y BiAASEIALVT bratse ]
=~ s 4 | KBEZ 1:43.9 6-5-7-7 | 40.1| — 5 | 494 |BER OH)
10/8]13 7~k 5.0 @ ks
RiFAOIATv— B:HIY ESHI7—LA
N - JIEOIE 144, -13-14- . - HER (KH)
M | BEPZS P 45 i 1 (42‘3 3 13-13-14-14| 39.5 9 (5:30) RS
R:AVI A —F7—R—K B:AVF1ANS—5 BR&EMT KMEXT—TI
M= B4 | BEEKR 1:44.4 9-11-8-8 |40.5| — 3 495 |HFNEE KH)
1208) 4| FV—=—3517 54.0 (3/8) *3) ENa
RiRyId—9IILYI &:=ZY /LY BRE B)IBUS
EPECN 4 4 | FEE 1:44.6 4-4-12-13 | 40.4| — 14 | 448 | KEFOE KFH)
BREYN 3| TITT7X=5Y A51.0 ) 4y |LEARE
R:ATU—vEe—0O— B:IARAYXR)L EvIUy RI7—L4
R 4 4 | ERHS 1:46.2 5-5-9-10 | 42.4| — 8 466 | AREZEE KH)
1417 12| BATOY—R 5.0 ®) gy | RERE
R:EY/0704 8:95—)ik—U— FEEHS
@ 11— —BRIEfI
10—7+— 2,8,11,3,12,13,14,10,4,7,9,1, (5,6)
20— — 2,8,11,3,(12,13),14,10,7,1,4,9,5,6
IT=5r= 2,11,7,1,8,14,13,4,12,10,9,3,6,5
40—F— 2,11,7,1,8,14,13,4,10,12,9,6,3,5
0 ILRE
BB 2 190 JA R 2-11 820/ & 2-7 9504 3ER 2-11-14 17,2700
B B 2 1504 2-14 1,700M4 (=] 2-7 1,200 3Es 2-11-14 45,0004
1" 470 11-14 6,740M 5 & 2-11 1,640
14 960M4 =51 2-1 2,190

ABIC OV TRUTEREERRODDZE. THRIIZEL.




